










Find the option which should replace (?)

7 , 10 , 15 , 24 , 41 , 74 , ?

A. 149
B. 169
C. 159
D. 139



In a certain code language, 

Indian , GO , Heroes  is written as  @@ ,  #@ , @#

What is the code for ‘CAR’

A. @@
B. @@
C. #@
D. #%



Find the option which should replace (?)

CAT = 8
DEAF = 4
FED = ?

A. 5
B. 6
C. 15
D. 10



Find the option which should replace (?)

2353 : 30 :: 4215 :  ?

A. 30
B. 32
C. 35
D. 39



Find the odd one out(?)

A. ( 0 , 1 )

B. ( 2 , 3 )

C. ( 3, 8 )

D. ( 4 , 27 )



Find the option which should replace (?)

A. 5
B. 7
C. 0
D. 3

3 8 10 2 ? 1

6 56 90 2 20 0



Find the odd one out(?)

A. 2047

B. 4702

C. 6041

D. 4306



Rahul is the husband of my father’s granddaughter , so I am 
Rahul’s :-
राहुल मेरे पिता की िोती/नवासी का िपत है, इसपलए मैं राहुल
का:

A. Father – in – law
B. Mother- in -law
C. Either A or b
D. Brother- in - Law



Find  the number of triangle (?)

(A) 18

(B) 16

(C) 20
(D) 22 



Find the missing term(?)

Water : Tawre :: Grain : ?

(A) Grain

(B) Nagri

(C) Argni

(D) Argin 



Find the missing term(?)

562 : 388 :: 654 : ?

(A) 581

(B) 587

(C) 579

(D) 893



Find the missing term(?)

NIGERIA  :  5975991

GINGER :  ?

(A) 797595

(B) 795759

(C) 797559

(D) 795795



Find the Missing one  (?)

4262 : 4271 :: 2139 : ?

(A) 2346

(B) 7132

(C) 9521

(D) 2572



Find the ODD one  (?)

(A) 5934

(B) 248

(C) 3716

(D) 138



Find the Missing one  (?)

COW : DNX 
HOT : GNS
BUT : ?

(A) CTU

(B) CTS

(C) ATU

(D) ATS



Find the Missing one  (?)

X9 : H3 :: U18 : G6 :: O21 : ?

(A) E6

(B) F7

(C) E7

(D) F6



Find the ODD one  (?)

(A) 18 : 129

(B) 14 : 101

(C) 17 : 110

(D) 15 : 108



Q.. Statement :

Some ships are boats.

All boats are submarines.

Some submarines are yatches.

Conclusions : 

(I) Some ships are yatches.

(II) Some submarines are ships.

प्र.. कथन :

कुछ जहाज नौकाएं हैं।

सभी नाव पनडुब्बी हैं।

कुछ पनडुब्बी नौकाएं हैं।

ननष्कर्ष:

(I) कुछ जहाज नौका हैं।

(II) कुछ पनडुब्बब्बयां जहाज हैं।



Q.. Statement :

Some ships are boats.

All boats are submarines.

Some submarines are yatches.

Conclusions : 

(I) Some ships are yatches.

(II) Some submarines are ships.



Q..Statement: We offer employment oriented courses and that too at lowest

cost – an advertisement by “ X College"

Conclusion:

(I)No other College offers employment oriented courses.

(II) People are attracted towards employment oriented courses.
प्र. कथन : हम रोजगार उनु्मख पाठ्यक्रम प्रदान करते हैं और वह भी सबसे कम लागत पर - " X
कॉलेज " द्वारा नवज्ञापन
पनष्कर्ष:
(I) कोई अन्यकॉलेज रोजगार उनु्मख पाठ्यक्रम प्रदान नही ंकरता है।

(II) लोग रोजगार उनु्मख पाठ्यक्रमों के प्रनतआकनर्षत होते हैं।


